
 

 

 

 

 

 

 

  

 

I/ COMPREHENSION QUESTIONS ( 5 marks ) :                                                                                                                     
1° Tick ( √ ) the right alternative ( 1 mk ) :  The wife is mostly :                                                                                                                   
a° warning her husband about the tobacco-related health problems   (  .  )                                                                                   
b° providing her husband with effective ways to give up smoking             (  .  )                                                                                    
c° worrying about her husband’s smoking affecting their children       (  .  )                                                                  
2° Fill in the table with the right information from the listening passage ( 1 mks  ) :  

Husband  Number of cigarettes  
smoker ………………………………………………… 
3° Answer the questions below  ( 2 mk ) :                                                                                                                                    
a° How did the wife know that her kid smoked cigarettes more than once ?                                                              
………………………………………………………………………………………………………………………………………                      
b° Where was Jacob ( The kid ) caught smoking for the first time ?        
………………………………………………………………………………………………………………………………………                                                                          
4° Say whether the following statement is true or false then justify your answer with a detail from                         
the listening passage ( 1 mk ) : 

The statement True  False  
The wife was the only family member who kept nagging at the husband about smoking ?    
Justification : ………………………………………………………………………………………………………………… … 
 II/ SPELLING ( 1 mk ) : Fill in the blanks with the right spelling of the missing words :                                                                        
Man: What? Well, you know, I'm just . . .I'm just a …………………… smoker, and I can ……………………  anytime 
I want.                                                                                                                                                                                 
III/ FUNCTION ( 1 mk ) : Match the statement with the appropriate function. There are 2 extra functions                                                
1° Man: Yeah. I just have a cold, I think.                                                                                   1  +  .                                                                                                                           
a° Giving advice         -         b° Giving opinion        -         c° Expressing desire                                                                                                                                          
IV/ PRONUNCIATION ( 1 mk ) : Circle the right sound you’re hearing while listening to the passage :              
Man: Hey. Don't tell me how …………………… .                                                                                                  
Woman: I won't have to. ………… ( healing  -  killing ) yourself, and someone else …………  ( rising   -  raising ) 
your kids for you.                 

 



 

1° Circle the right alternative  ( 3 mks ) :                                                                                                                   
Fast food is very popular with children and many ( grow ups – growing up – grew up ) , but is it good ?                          
It contains normal ingredients like meat or vegetables, but many experts say it is                                                              
( healthy  - nutrious – harmful ).   What is the problem? The fat? The soft drinks?  The size of hamburgers and 
desserts?  One thing is true: in the countries where people eat a lot of fast food they are                                  
more likely to suffer from  ( obesity – smoking – pollution ) –related problems, higher cholesterol rates                            
and more heart problems. This happens in USA, but doctors predict that many other countries                                    
( will soon have – soon had – soon have ) the same problems, because fast food is now popular all over the 
world.  Fast food is not new. The Romans sold cooked meat and bread with wine in the streets. But this food 
was only for the people who didn’t live in those cities and ( could not – did not  have to – might not ) cook.  So 
be careful, a hamburger or a hot dog are OK once a week, but that’s all. The rest of the week try to eat more 
vegetables and fruit and exercise more ( since – thus – unless ) you will be happier.                                                         
2° Fill in the blanks with the appropriate words from the list below. There are 2 extra ones ( 3 mks )  :                                    
suffer - logging - litter - careless - endangering  - protect – contribute - awareness                                                                                                                                                                                                                                                                          
I am writing to complain about the state of the dump, formerly known as Greenford Park, which can               
be seen from the front of my house. Are we, as local residents, expected to ……………………… from               
the misuse and probable ruination of this once useful, attractive amenity without expressing our feelings?                          
The frequent dropping of ………………………  in the form of cans, fast-food packaging, etc., the deliberate 
dumping of an old mattress, damage to the few remaining trees and wild plants from vehicles either crossing 
the area or parking on it, the ……………………… behaviour of dog owners who allow their pets to foul                    
the area without any attempt to clear up the mess that remains resulting in ……………………… public health. 
Added to these obvious forms of pollution, there is the noise from portable music-making devices in fine 
weather, which must ………………………   to the disappearance of the rabbits, badgers, and other species 
from this once beautifully unspoilt wild area. In these days of conservation and “green” ………………………,            
I should have thought that our goverment might leap at the chance to create an area that would promote             
the preservation of plants and wildlife.                                                                                                                                                                                                                                                                                                                                                                                                                                                                        
3° Supply the right tense or form of the bracketed words ( 3 mks ) :                                                                                                                                                                                              

In Britain today, more above ( 18 years old ) …………………………………  vote in TV shows like pop idol than in 
general elections. All political parties ( constantly try ) ………………………………… to encourage more young 
people to get involved in politics. This means talking about the issues that are important to them. The first 
political party to make the environment an important issue was The Green Party. They compaign on many 
issues including banning scientific experiments on animals and improving conditions for animals on farms, 
reducing the amount of traffic and pollution by making buses and trains ( cheap ) ………………………………… 
and encouraging people to walk and cycle more, investing in clean, ( renew ) ………………………………… 
sources of energy, and being against the use of chemicals in farming while encouraging consumers to purchase 
( grow in a natural way ) ………………………………… food. Nowadays, people are realising that the earth is in 
danger. If we don’t change our way of life, the results ( be  ) …………………………… disastrous for our planet                                                                                                                                                                                      
4° Match sentences parts to get a coherent paragraph. There is an extra part ( 3 mks ) : 

A B 
1° Every cigarette you smoke is harmful   
2° Smoking is the biggest cause of preventable 
deaths in England, leading                                                                    
3° Smokers who keep on smoking despite                                 
the warnings and health risks are                                                             
4° One in two smokers will die                                                        
5° If you can see the damage,                                                      
6° The good news is that once you stop smoking, 

a° to your body  
b° to nearly 80,000 victims each year.                                             
c° more likely to have a stroke or lung cancer.                      
d° in poor health and tobacco addiction.                                      
e° your health will improve and your body will begin 
to recover.                                                                                     
f° you'll stop.  
g° from a smoking-related disease.                                                          
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